Problem S1 Solutions
1.a

x+y—-2z=-1 x+4y+2z=5
x+4y+2z=5 2(x+y-2)=0
2x+5y =4 3x+6y=5

—23x+6y=5)
32x+5y=4)
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215 |. Subtract row 1 from row 2
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. Subtract row 1 from row 3
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2.a
4x+2y+2z=17

3x+y+2z=5
x+3y—-z=4

4x+2y+2z=7 3x+y+2z=5
3x+y+2z=5 2(x+3y—-z=4)

xX+y=2 5x+7y=13
S(x+y=2)
S5x+7y=13
2y=3
y=3/2
x+3/2=2
1/2+33/2)-z=4
z=1
2.b
4 2 217

3 1 2|5|. Multiply row 1 by -3/4 and add to row 2

4 2 2] 7

1/2|-1/4 |. Multiply row 1 by -1/4 and add to row 3
1 3 -1| 4

4 2 2 7

1/2 |-1/4 |. Multiply row 2 by 5 and add to row 3
0 5/2 -3/2/9/4
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2.c
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